

$$\frac{1}{\sqrt{\sqrt{r}-r}} + \sqrt{\sqrt{r}-r} = (\sqrt{r}-f(r)) \quad - \vee$$

$$\frac{1}{\sqrt{\sqrt{r}+r}} + \sqrt{\sqrt{r}+r} = (\sqrt{r}+f(r)) \quad +$$

} $\text{عز} = > \vee$

- 1

$-x \rightarrow x$ $f(x) = x + x^4$

Chino

$$f(x) = f(-x) \begin{cases} 1f(x) - 4f(-x) = 4x^4 - x \\ 4f(x) + 1f(-x) = 4x^4 - x \end{cases}$$

9

$$y=0 \quad 1-m+mx-x^4 = f(x^4) = f^4(x)$$

$$1-m+mx-x^4 = (b+ax)^4$$

$$a = +1 \quad a^4 = 1$$

$$a = +1 = 1-m = m^4 = 5-b = 4b$$

$$a = -1 = 1-m+mx-x^4 = b^4 + 4bx - x^4$$

$$1-m = 4b^4 \quad b = m \quad -m = -4b$$

$$f(x) = 1-x$$

$$f(x) = x-1$$

- 10

$$\frac{v}{x} + 1x - x = b + \frac{a}{x} + b + ax$$

$$1 = a = x - \frac{v}{x}$$

$$-4 = b \Rightarrow \text{Cub}$$

$$4b = -14$$

$$v = a \quad v^4 = \frac{1}{x} - \frac{v}{x}$$

۱۔ الف) مخرج حائضہ

$$0 \neq \frac{x}{(x+4)(x-1)} - \frac{x}{x+4} - \frac{x}{x-1} - 4, 1 \neq \text{جواب}$$

$$\frac{1}{p} \geq |x| \Rightarrow q \leq \frac{1}{x^p} \Rightarrow 0 \leq q \leq \frac{1}{x^p} \quad (i-p)$$

$$-1 \leq y = 0 \leq 1+y \quad (2)$$

4

$$\begin{array}{l} -1 > x \\ x > 1 \end{array} \quad 0 > 1 - x^4 \Rightarrow |x| \geq 1$$

159

4 2